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* set for stable performance,
«+set for high performance, but some SDRAM may make the system unstable.
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CPU
Intel Pentium MMX-233 233 66 3.5x
Intel Pentium MMX-200 200 66 3x
Intel Pentium MMX-166 166 66 2.5x
Intel Pentium-200 200 66 3x
Intel Pentium-166 166 66 2.5x
Intel Pentium-133 133 66 2x
Intel Pentium-100 100 66 1.5x
AMD-K6-2-400* 400 100 4x
AMD-K6-2-366* 366 66 5.5 x
AMD-K6-2-350 350 100 3.5x
AMD-K6-2-333 333 95 3.5x
AMD-K6-2-300 300 66 4.5x
100 3x
AMD-K6-300 300 66 4.5x
AMD-K6-266 266 66 4x
AMD-K6-233 233 66 3.5x
AMD-K6-200 200 66 3x
AMD-K6-166 166 66 2.5x
AMD-K5-PR200 133 66 2x
AMD-K5-PR166 116 66 1.75 x
AMD-K5-PR133 100 66 1.5x
AMD-K5-PR100 100 66 1.5x
Cyrix M 11-350* 300 100 3x
IBM 6x86MX-PR350* 291 83 3.5x
300 75 4x
Cyrix M 11-333 266* 66* 4 x*
IBM 6x86MX-PR333 263* 75* 3.5x*
250 83 3x
250* 100* 2.5 x*
Cyrix M 11-300 225 75 3x
IBM 6x86MX-PR300 233 66 3.5x
1. * CPU
2. FIC Web http://www.fic.com.tw
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